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@ Unit 2A Honors Test Review - Quadratic Equations Name \é&bj/

Multiple Choice -Identify the choice that best completes the statement or answers the question. Make sure to show ALL

work to receive full credit.
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1. The graph below shows the function f(x). c. ! :
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Which graph rf:prcscnts the function f(x+ 2)? < N
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: is equivalent to

- a 2x-6(x+1)
H : 2(x+ )(x- 1)
’ 2(x + 2)(x+ 3)
d 2x-Di-3)

Short Answer- Show ALL work to receive full credit.

4, Rewrite each of these quadratic expressions in an equivalent factored form.

30 2 13x-30 b, 9x* - 25

e\t (o) 1) (2145)(3%-5)
>

. 28x° + 4x d.x? - 18+ 81 ((]
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2. When factored completely, x> - 13x" - 30x is
a. x(x+3)(x-10)
x(x - 3)(x-10)

¢ Vgee O

1 3. Factored completely, the expression 2x3 + 10x- 12

X (v = 3¢-30) “f‘s><i
X(x-19)(xt2) =13

(x4~
2(x30)(x-1)
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5. Rewrite each sum or difference in standard
polynomial form,

a (55 432" - 4) + (x* - 3x% & 10)

X+ 54

b. (15-3x® + 4x) - (5x° + 8)

—%X x Uy 7

6. Consider the quadratic function foy=x <120+
27.

a. Find the value of f8).

F0= s 210 1Y

- 4 -0 +27 J-5)

b. Find the y-intercept of the graph of f{x).
©- Y= 0 -2+
C, \J LL,QLL £

7. Write a rule for a quadratic function with a graph
that has x- mtercapts (2,0) and (-6, 0) and a
maximum point of (=2, 4),

Yz a(x-2(x+w)
Y =a( f-w)c—-?/f'@
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12. Rewrite each of these quadratic expressions 1@%&11; standard form,

a.{x,-_ﬁx+ﬂj
Yy Lk Ao

,ixzf__,,uq ]

Y=L NG

b U“HI-:—-L

8. What is the vertex of the graph of the equation .
y=73x+ 6x+ 17 Solve algebraically.

X~ 2{0:) T (.-—1,*-2.)

9. a.Find a rule for a quadratic function that opens up
and has x-intercepts of (-3, 0) and (5, 0).

) = (XtD(x-5])

b. Without using your calculator, find the

coordinates of the minimum point of the graph of
your function in Part a.

e X sl sl
9{4 ) (1.-10)
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1. Write a rule for a quadratic function with a graph

that has x-intercepts (-2, 0) and (8, 0) and
y-intercept (0, 8).

Y=a(x+2) x-%)
= (0tiYo=x)
‘E a(~lw)

|97 2 (erdx-1)

e

b. (mﬁ )

| Z’KL{' Wy v I+2 | 0
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1 3-T Describe the transformations occurring from the parent functiony = x2 to each of the following functions.

a y=(x+2)° b. _}r=—4x1
Lef4 7 —Reflect Y-axis
~Ve Shvefun by 4

. ¥=(x+2)-3 d. y=%{x+2}’+]
, 2
Lt L ~V. Comp by ¢
LA - et -wpl
14. Given the parent function f(x), write an equation given the following transformations.

a. Reflection across the y-axis, up four units, and vertical stretch by 2

© y= LA(-0) +H

b. Reflection across the x-axis, left 7 units

Y= —F(x+1)

¢. Vertical compression by 1/3, right 2 units, and down 5 units

4> 3H(x-2)-5
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